A # B

TR245%E8H29H TEMRARTEIBRESEE

(Bifz:F)
= . ¥ E (M4 %EHL58
A*LAS I -
B o2 & R | @) | P
St it 4E AT HE2-28 - 24HE AT HE2-
1 P 28 At EXKEARMETFTENT 12,940,000 | 12,400,000
1RERSE AL =
EE1
A i B TR24FE8HA298 TEMRFAATEIBREEE
I F 4 QEW A TE2 25 24THENTE2-25 &4 FKEARHETENNIE
¥ 7€ 4% 12, 940, 000 (Fitk=E)
(Bifz:F)
AfLEES F1E EiLE s =
1 |(BYKXFEE 12,620,000
2 |(BEXRFES 12,500,000
3 |(BEEE% 12,400,000 HEHL
4 |(\EFEREEER 12,530,000
5 |RIFEEXWHR) 12,550,000
6 |[(BMHES 12,600,000
7 |[BEERIEGRR 12,480,000




